
CIT FROSTI Post-Test 
Analysis

Tyler Rosauer
June 3rd Group Meeting



Goal

● Produce ΔT(r) and 
Irradiance [I(r)] Plots

● Find ΔTMax
○ Get incident power: Pinc
○ Get inferred element 

temperature: Telement



Steps 1-3: Average 
Cut, and Subtract

● 1. Average data from 
period which FROSTI was 
at its maximum operating 
point

● 2. Cut the test mass data 
out from the rest of the 
averaged FLIR image

● 3. Subtract temperature of 
test mass center from the 
averaged data to get the 
ΔT(r) plot



Steps 4-6: Compute 
Irradiance Profile, Incident 
Power, Element 
Temperature

● 4. I(r) = ɑ ΔT(r)
○ ɑ = 84.760  W/(m^2 K)
○ Result plot to the right

● 5. Pinc = βΔTMax
○ β = 2.069 W/K
○ Computed result: 

■ Pinc ≈ 8.79 W
● 6. Telement = γ(ΔTMax)^(1\4)

○ γ = 365.40 K^(¾) 
○ Computed result:

■ Telement ≈ 251 C


